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Aufgabe 1

Multipliziere aus wie im Beispiel a).

a) (z+4)(v+y) =z(v+y) +4v+y) =vz+dv+yz+4dy
b) (v+w)(z+y) =vx+y)+wlx+y) =vr+ovy+we+ wy
o(@+z)y+v) =2y +v)+z2(y+v) =vr+vz+ay+yz
d) (d+e)(c+a)=d(c+a)+e(c+a)=ad+ ae+ cd+ ce

e) (e+c)(d+b) =e(d+b)+ c(d+b) = bc+ be + cd + de

f

) (d+13)(c+a) =d(c+a)+13(c+a) = ad + 13a + c¢d + 13¢

g) (b+a)(d+12) =b(d+12) + a(d + 12) = ad + 12a + bd + 12b

h) (b+ 18)(d + 11) = b(d + 11) + 18(d + 11) = bd + 11b + 18d + 198
i) (d+3)(e +17) = d(e + 17) + 3(e + 17) = de + 17d + 3¢ + 51

i) (d+Db)(e+c)=d(e+c)+ble+c)=bc+ be+ cd+ de

Aufgabe 2
Multipliziere aus wie im Beispiel a).

a) (¢ — )(a+e)—c(a+e) d(a+e) = ac—ad+ ce — de

b) (d—a)(e+c) =d(e+c)—ale+c) = —ac— ae + cd + de

¢) (c=b)(d+a)=c(d+a)—bld+a)=—ab+ ac—bd + cd

d) (e+c)(d+0b) =e(d+b) + c(d+ b) = bc+ be + cd + de

e) (c+d)(a+b)=cla+0b)+da+b) =ac+ ad+ bc+ bd
Hrz+w)(y—2) =2y—2)+wly—z2) =wy —wz+ 2y — 22
g) (w+20)(v—y)=wl—y)+20(v—y) =vw+ 20v — wy — 20y
h) (y—18)(x+2) =yl + 2) — 18(z + 2) = vy — 18x + yz — 18z
z+y)(lv—2z)=zwv—2)+ylv—2)=vy+vz—2ay — 22

) y+w)(z4+v)=ylz+v)+w(z+v) =vw+ vy +wz+yz

Aufgabe 3
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Multipliziere aus.

a) (w—v)(v+w)=wv+w) —vv+w) =—0>+w?

b) (e 4+ ¢)(a+b) = e(a+b) + c(a+ b) = ac+ ae + bc + be

¢) (v+y)(v—w) = v(v —w) +y(v — w) = v* — vw + vy — wy
d)(c+d)(a—b)—c(a—b)+d(a—b)—ac+ad—bc—bd

e) (w+z)(v+w)—w(v+w)+z(v+w)—vw+vz+w +wz
f) (a +c)(a —b) = ala —b) + c(a — b) = a® — ab + ac — bc

g) (b—c)(a—0b) =bla—Db) —cla—b) =ab—ac — b* + bc

h) (c —a)(a+0b) =cla+b) —ala+b) = —a® —ab+ ac + be
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i) (a+e)(a+b)=ala+b)+ela+b) =a®+ab+ ae+ be
D (w+y)(v—w)=wlv—w)+ylv—w)=vw+vy —w?—wy
Aufgabe 4
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Multipliziere aus wie im Beispiel a).

a) (c—b)(d+e)=c(d+e)—bld+e) =—bd —be + cd+ ce

b) (e —b)(a+13) =e(a+ 13) — b(a + 13) = —ab+ ae — 13b + 13e

¢) (d—14)(b+c)=d(b+c) — 14(b+ ¢) = bd — 14b+ cd — 14c

d) (e—=8)(b+c)=e(b+c)—8(b+c)=be—8b+ ce — 8¢

e) (d—b)(a—c)=d(a—c)—bla—c)=—ab+ ad+ bc— cd

£) (d — a)(b+ 20) = d(b+ 20) — a(b+ 20) = —ab — 20a + bd + 20d
g) (v—2z)(z—w)=v(z—-w)—2z(z —w) = —vw+vz+wr—zxz
h) (y —w)(v—11) =y(v—11) —w(v — 11) = —vw + vy + 11w — 11y

i)(b—c)(a—e)=bla—e)—cla—e)=ab—ac—be+ ce
Dw+z)y—2)=wly—2)+z(y —2) =wy —wz+xy — 2

Viel Erfolg]!
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